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OFA0 4,500,000& 4,500
SH&EH OF2td 2 AL 26,400 500,000 A 473,600
201 Bt A | 6,400 0 6,400
02 2324l 6,400 0 6,400
OAE9 Ciel dIIes 200,000& «12& 2,400
OA&9l Ciel Al S Xl 4,000
—LED BAR LAl 200, 0002 104 2,000
-2l (SH) 2,000,000& *12] 2,000
401 A& Bl 2 CHYI 20,000 500,000 A 480,000
01 Al &l 20,000 486,950 A 466,950
OA&9l Ciel E+FH| 20,000,000& * 14! 20,000
s AZ=FANMS 126,321 0 126,321
401 A& HIZ 2CHYI 126,321 0 126,321
01 A& HI 126,321 0 126,321
OFdsS AZ=FAAME JI=2 & AL
3,234,000,000& *2.79%*1.4 126,321
ctHSE B3 L A2 ZLEAS 13,840 0 13,840
201 et2Ad| 840 0 840
02 2324l 840 0 840
OctHsSE dIIes 70,0003 *12& 840
401 A& HIZ 20| 13,000 0 13,000
01 Al£Hl 13,000 0 13,000
Ot SE Bd2E B3 A 13,000,000 14 13,000
2HZEE Y oHHE &I 140,000 0 140,000
201 LEH2FH| 40,000 0 40,000
01 AR 2teld] 40,000 0 40,000
OXIcotE Cholute) Zelof SAEE(II2MHA
CHAl) 5,000, 000& 83| 40,000
401 A& HIS 2 CHYI 100,000 0 100,000
01 A& HI 100,000 0 100,000
O AH,ZH OtFE &Xl 45,000,000 *2IH 2 90,000
O2ZotiE B3| 1,000, 000& * 1094 2 10,000
Mot MYET FY| 22,000 0 22,000
401 A& Bl 2 CHHI 22,000 0 22,000
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SN 22D
HH: 2 BHSHBHUBDY/BD)
SETRETESS T (el &
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRs2
01 A& HI 22,000 0 22,000
OFg=EZ M2 H3LX 666,660 *30m 20,000
OHYZT el SOAX &x  500,0008 =4H 2,000
BYSD (SHYE 29 6,335 0 6,335
201 fEt2dd| 4,335 0 4,335
02 B2 4,335 0 4,335
Ob=sdzE HIIR= 250,000 «12& 3,000
OUsSHZZ A& 37,0803 x3H x12& 1,335
206 T 2l 2,000 0 2,000
01 MHZ 4l 2,000 0 2,000
ot=x8&% &0 s« 1,000,000& *23l 2,000
2= 791,365 523,176 268, 189
| 55,726
= 101,975
i 633,664
2ot ZoHE AN 2SN 215,960 176,346 39,614
J| 40,855
= 9,736
= 165,369
301 Yo A3 215,960 176,346 39,614
Il 40,855
= 9,736
2 165,369
10 #AAH 2 A3 9,600 2,600 A3,000
OSHBZHLAN SSAZBX HIDLA
3,000,000& 13| 3,000
O RBHLA DEOIH|
150,000& +22H 23| 6,600
| 2,200
2 4,400
12 J|Et2 43 206,360 163,746 42,614
ossBBHLN 29
50,0003 x22%H 202 9 198,000
| 36,155
= 9,736
i 152,109
OSHBZHLAN 222 22 300,008 22 6,600
| 2,200
= 4,400
O&EE Ity 80,0003 x22H 1,760
J| 300
= 1,460
HEFAE LY ¥ =2 138, 184 132,616 5,568
201 Et2dd| 108, 184 81,616 26,568
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fA: St
MM pE BASH(2UBR/BD)
ol BEEE EEE-E)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
ORFRES AHH ME S2FE(JI2UA)
22,000,000& =14 22,000
ORF2d S0HA 2Z(0I13UH) 26,200
—HA 2| 400,000& 30 »2CH 24,000
—E22 M % 2,200,000& =14 2,200
04 BIZtHALE = 8,000 8,000 0
OzZaZLEHES Mz 8,000, 000& *13] 8,000
HBUEZ ISFIAMY 100,000 80,000 20,000
308 AHXIEHMI S 01 & 100,000 80,000 20,000
05 XXM RE S 100,000 80,000 20,000
O dHzstd 2+ S=EALS
50,000,000 =14 50,000
O 3&3x 2ZHES EAHS
50,000,000& *14! 50,000
oA 29 22,366 29,614 AT,248
201 Bt A | 22,366 25,224 A2,858
01 At 2teltl 6,276 7,276 A 1,000
Ogglstaa el 2,476
—SEAY RHEES 206,333& x12& 2,476
OZHARE & MREE 166,660& x12& 2,000
O2ZotUE 28= 7 300,000& 6% 1,800
02 2324l 16,090 17,948 A 1,858
O2tZotHA Y 2R BER3 16,090
—&Je32 382,500 x12& 4,590
-3 200,000& «12& 2,400
—&3ea 200,000& = 12& 2,400
—EEB2=2 g5 < 350,000& «12& 4,200
— 22Ot A AIEE 208,330& «12& 2,500
HFE 29 J=2Z | 27,400 29,800 A2,400
201 B2 HH| 4,400 4,800 2400
01 AR 2teld| 4,400 4,800 A400
OZEHARE 183,330& <128 2,200
OANRES 183,330& x12& 2,200
202 44l 6,000 8,000 A2,000
01 = LHA bl 6,000 8,000 A2,000
O3 HNHHI 6,000,000& 6,000
203 ¥ =&l 17,000 17,000 0
03 AIMFR AR =AY 17,000 17,000 0
OZstdAF=E & 17,000,000& 17,000
HAHIH AFS 9,000 0 9,000
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SN 252
a2 2HHSSUY/2Y)
ool RBE (el @g
_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il b o HRs2
5] 6,300
= 810
2 1,890
301 YEHB A 9,000 0 9,000
| 6,300
= 810
2 1,890
01 AFEI B & X 2513 9,000 0 9,000
OOl g b2 F X2 9,000, 0002 9,000
| 6,300
= 810
2 1,890
HMsweo 3 228 MY 28,571 0 28,571
| 8,571
= 11,429
2 8,571
201 Yur2 | 28,571 0 28,571
| 8,571
= 11,429
2 8,571
01 AtR 22|t 28,571 0 28,571
OHlA gxiz 400,000 *50CH 20,000
| 8,571
= 11,429
os22 M 5002 %4, 0002 2,000
OJEE 2 849 M 6,571,0002 6,571
EHOF KEAE HEAY 160,000 0 160,000
= 80,000
2 80,000
402 912t 20| 160,000 0 160,000
= 80,000
2 80,000
01 PARERE 160,000 0 160,000
OBMIt SLAIE Ha
320,000, 0002 * 141 x50% 160,000
= 80,000
2 80,000
HH2SIFU(SS2Z D) (IEHIIE) 15,960 16,440 480
EEL 15,960 16,440 A480
e ISICET 15,960 16,440 A480
201 Yut2 bl 6,480 6,720 A240
01 AtR 22|t 6,480 6,720 240
OJlEgeEx 6,480, 0002 6,480
202 014 6,480 6,720 A240
01 =L 01 bl 6,480 6,720 A240
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